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Haiinure 3uauenue X.

1) wIomanas = 7 u’ 2) mwiomans = 12 u’ 3) mwiomanas = 10 u’
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6) nnomams = 10.5 u’
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4) nnomans = 16 v’ 5) mromans = 18 v’

7 mwIomanp = 22.5 u’ 8) mwromans = 20 u’ 9) mwIomangs = 5 u
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10) mwiomans = 17.5 u’ 11) mwiomans = 7.5 u’ 12) mwromanas = 12 u’
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Haiinure 3uauenue X.

1) mwIomanb = 7 u’ 2) mwromans = 12 u’
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4) nnomans = 16 v’ 5) mromans = 18 v’
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7 mwIomanp = 22.5 u’ 8) mwromans = 20 u
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10) ymomanes = 17.5 u* 11) ypomans = 7.5 u*
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3) mwiomanas = 10 u’

6) nnomams = 10.5 u’
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9) mIomanb = 5 u

12) mwromanas = 12 u’
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